IS sl dn B BINERL ks CER2T4E3 )

(BAZ A+ %)

JEAE [GELES lir Gz Hik & Rk
1 4 HPE 758,658 38.11
2 H4& TR H 328,984 16.53
3 JEh HPE 272,686 13.70
4 = (RSS3) B HY 187,559 9.42
5 TV HPE 167,789 8.43
6 &3= B 129,570 6.51
7 KT i HPH 37,655 1.89
8 H&I= HPE 28,378 1.43
9 EOBAZL HPEH 27,223 1.37
10 K= KB e J55 H 19,514 0.98
11 VAV AT I HPE 7,094 0.36
12 — KT HPEH 6,354 0.32
13 H A B s 5 5,074 0.25
14 R FRPEHX 4,776 0.24
15 EOBAZL Rt 25 4,510 0.23
16 R VY HPEH 1,401 0.07
17 N=) HPE 1,223 0.06
18 /NEL KRB e J55 750 0.04
19 R AT HPEH 494 0.02
20 KEHERE KRB 2 J55 H 264 0.01
21 MR A R 3t 25 263 0.01
21 [E B S R KB e J55 H 263 0.01
21 HLbE KB s 5 263 0.01
24 21 PR HR 0 0.00
24 FLBE HPE 0 0.00
= — 1,990,745 100.00
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